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Part A

Answer a,fiy tefi guestlons.

Each question canies 2 marks.

QP CODE:24A27$25 24027025 Reg No

Name

Define statistics.

Discuss on multi-stage samPling.

Write a note on source note.

List the various measures of CentralTendency.

The mean of 20 values is 45. lf one of these values is to be taken 64 instead of 46" Find

the corrected mean.

Calculate median: 17,18,25,1234.

Find out the harmonic mean of 2,3 , 4 and 5.

Calculate mean deviation 3,8,9,1 2^

lf n= 10, Ix= 60. Zx2 =1,000. Calculate standard deviation.

What do you mean by asymmetrical distribution?

Write a short note on lnterpolation.

Define Extrapolation.
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Part B

Answer any six quesflons.

Each questian carries 5 marks.

13. Explain the functions of statistics.

14. Draft a questionnaire for collecting socio-demographic details of women workers in a

factory.

15. Explain the parls of a table.

'16. The mean age of a group of '100 children was 9.35 years. The mean age of 25 of them

was 8.75 years and that of another 65 was 10.51 years.What was the mean age for the

remainder?

17. Compute median from the following data.

Mid-Value 115 125 135 445 155 165 175 185 195

F 6 25 48 t/- 116 60 3B 22 3

18. Find geometric mean af 3,6,24, and 48.

19. What is co-efficient of variation? What is its use?

20. Calculate quartile deviation and it's retrative mea$ure

Variable ?A-Zg 30-39 4A-49 50-59 60-69 70-79

F 306 182 144 96 42 24

21. Using the suitable rnethod. interpolate the business forApril2007

l\llonth l.lanuury February March It/lay June

Business{000 - Rs}l f SO t55 ?46 tr2tr 784

( 6* 5=30)

Fa* G

Answer any fwo quesfions.

Each question carries t5 marks.

22. Calculate mode from the following.

lVlarks 14bovel,l0 r o |zo 30 40 50 60 7A 80

No of studenrcihzz
il

rrarlrrz 92 60 27 1 2 U

23. An analysis of monthly wages paid to workers in two firms A and B belonging to the same

industry gives the following data:

llrirm n Firm B

No of workers llsso 650

Average Monthly wages lluo 45
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Standard Deviation r/co r'120

1. Which Firm A or B pays larger amount as monthly wages?

2. What are the nronthly wages and $"D in the distribution of individuals'wages of

workers in the two firms taken together?

3. ln which firm there is greater variability in individual wages?

24" Calculate mean deviation from mean from the following data:

Age (Years) tl-tll 10-24 20-30 30-40 40-50 50-60 60-70

No of Persons A 5 o 15 7 6 J

25. The following data gives the profits of a firrn (in lakh rupees). lnterpolate the missing

figures.

Year lzooo 2005 2A1A 2015 /.UIU 2425

Profits (in lakhs Rs)l 7 ? 13 15 25

(2x 15=30)


